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JE 45z E % OUT | IN | GR | HDCP | NET e B 452 E % OUT | IN | GR | HDCP | NET e
B g —= 49 | 42 | 91 | 28.8 | 62.2 |30pt 51 |#rH B 42 | 41183 | 2.4 180.6
#E =EH KA 45 | 41 | 86 | 19.2 | 66.8 |15pt 52 \fBIR & 40 | 48 | 88 | 7.2 |80.8

3 |AO0 mE 49 | 47 | 96 | 28.8 | 67.2 |10pt 53 |FHt =& 49 | 51 (100 [19.2 | 80.8

4 HE XE 42 | 47 | 89 [21.6 |67.4 |10pt 54 |Fh BF 50 | 58 (108 [ 26.4 | 81.6

5 KB #t 46 | 48 | 94 | 26.4 | 67.6 |10pt 55 |IEHE & 43 | 46 | 89 | 7.2 | 81.8 |5pt
6 |Fraft E 47 | 50 | 97 | 28.8 | 68.2 |10pt 56 ;IO EBEZ 46 | 55 (101 [19.2 | 81.8

1 |E@R #Z 44 | 51 | 95 | 26.4 | 68.6 |10pt 57 |&#E & 50 | 56 (106 [24.0 | 82.0

8 ML EZE b5 | 58 |113 | 43.2 | 69.8 |10pt 58 |#H i 47 | 45 | 92 | 9.6 |82.4

9 |ATA a3k 43 | 44 | 87 [16.8 | 70.2 |10pt 5 & F— 50 | 54 |104 | 21.6 |82.4

10 | XB MR 39 | 41 | 80| 9.6 | 70.4 |[10pt 60 JIIF BF 49 | 48 | 97 [14.4 | 82.6 |5pt
11 | K# A 51 | 46 | 97 1 26.4 | 70.6 61 EHHRF F 57 | 55 (112 | 28.8 | 83.2

12 |BER ZF 45 | 48 | 93 | 21.6 |71.4 62 ;B8 F5hA 52 | 53 |105 | 21.6 |83.4

13 |EH SFE 60 | 62 |122 | 50.4 | 71.6 63 |f8F 5Lz 60 | 60 |120 | 36.0 | 84.0

14 & BHE 45 | 44 | 89 [ 16.8 | 72.2 64 |l FEX 45 | 47 | 92 | 7.2 84.8

15 [#85c PHER 52 | 61 |113 | 40.8 | 72.2 |5pt 65 |XEF =t 61 | 55 (116 [31.2 | 84.8 |5pt
16 |BER H= 46 | 41 | 87 [ 14.4 |72.6 66 =ik 4 51 | 51 |102 | 16.8 | 85.2

17 |8) & 43 | 42 | 85 [12.0 | 73.0 67 BRIl == 51 | 51 |102 | 16.8 | 85.2

18 /hE A 41 | 49 | 90 [ 16.8 | 73.2 68 [FRE 1§ 49 | 53 (102 | 16.8 | 85.2

19 \m#F HEx 44 | 46 | 90 | 16.8 | 73.2 69 |EH HE 60 | 59 |119 | 33.6 | 85.4

20 \Bi = 47 | 48 | 95 [ 21.6 | 73.4 |5pt 0 |FRF & 61 | 52 (113 | 26.4 | 86.6 |5pt
21 |1B% HL 50 | 45 | 95 | 21.6 | 73.4 n x5 ¥ 56 | 58 (114 |26.4 | 87.6

22 {ERK R 49 | 51 (100 | 26.4 | 73.6 12 |IhE OBE 55 | 67 (122 |31.2 | 90.8

23 INER fEF 49 | 51 (100 | 26.4 | 73.6 13 |E;L EBEH 64 | 61 125 [33.6 | 91.4 |5pt
24 |%EH HEF 42 | 39 | 81 7.2 |73.8 14 |)\& RA 56 | 57 (113 |14.4 |1 98.6

25 |Bi RX 49 | 44 | 93 | 19.2 | 73.8 |5pt

26 |2 EE 45 | 48 | 93 [19.2 | 73.8

21 [ HE &R 34 140 | 74 | 0.0 | 74.0

28 |#HE 5hz 57 | 51 |108 | 33.6 | 74.4

29 |lUAE FEth 44 150 | 94 [19.2 | 74.8

30 &F BX 45 | 40 | 85 | 9.6 | 75.4 |5pt

31 B Em 43 | 47 | 90 [ 14.4 | 75.6

32 |EHE =R 43 | 40 | 83 | 7.2 |75.8

33 |IEN EmE 51 | 49 |100 | 24.0 | 76.0

34 [kt EEB 59 | 51 |110 | 33.6 | 76.4

3B Bl F 48 | 43 | 91 | 14.4 | 76.6 |5pt

36 Eth 1EHE 45 | 46 | 91 [ 14.4 | 76.6

37 | K@ HiE 41 143 | 84 | 7.2 |76.8

38 |/\& IEM 54 | 45 | 99 |21.6 | 77.4

39 N EZ 46 | 46 | 92 | 14.4 | T77.6

40 % 4FsE 56 | 60 (116 | 38.4 | 77.6 |5pt

41 3T WEF 54 | 55 109 | 31.2 | 71.8

42 |fBR  HEHE 51 | 58 109 | 31.2 | 77.8

43 IhE EHE 50 | 45 | 95 | 16.8 | 78.2

44 \FHFT BB 44 | 44 | 83 | 9.6 | 78.4

45 =R == 48 | 43 | 91 | 12.0 | 79.0 |5pt

46 | &R FIFE 49 | 47 | 96 | 16.8 | 79.2

47 BB Bz 42 | 47 |89 | 9.6 |79.4

48 |NE &R 46 | 46 | 92 | 12.0 | 80.0

49 |k fEZ 56 | 60 |116 | 36.0 | 80.0

50 |#EIE 1E 43 | 42 | 85 | 4.8 | 80.2 |5pt
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